070 O OO continuation

00000 0Ogoto O break ,contnue 0000000000000 O0ODODOO0O O continu-

atior gogbobooboobbobbobobbobood ggoogo
ODOo0oooOobo cobooooooDo:

g

int main(int argc, char** argv) {
printf("The result is %d.", 1+fact(10));

}

ogooooooboooooboboboobooobo0 —=1000oooobobobobobobooboooon
gooooboboogoboboobbobooooboboboobooooboooboobobDbo
ggubogboboooboobogbodan U program counted[]
ggobooboobbooobooboobouooboooobooboooobobooboooogoo
god g goobooboboboboobbooooobooooobobooboog
O00000D0000000OOcoroutinel00 000000000 OCOO0O00OOOOOOOOO
goon
gbobooboobooboobbbbooobooobOo0obOooo

7.1 UtilCont —OJOQOQOO

utilO break ,continue OO0 OO0OO0OO0O0OO0COExprO000000O0OCOODODOOOOOOOO

O0Ogoto D0 OOODOOOOOOOOOOOOO
data Expr = Const Target | Var String | If Expr Expr Expr | While Expr Expr
| Let [Decl] Expr | Val Decl Expr
| Lambda String Expr | Delay Expr | App Expr Expr
--0DO0O000dutilioon

| Begin [LabeledExpr] --gooo

| Break -- break O

| Continue -- continue O
| Goto String -- goto [J

deriving Show

type LabeledExpr = (Maybe String, Expr) -- OO0OOOO0OO

gooooobooooooon

Expr — ... | begin LabeledExprSeq
| break| continue| goto Var
LabeledExprSeq— LabeledExpr end LabeledExpr, LabeledExprSeq
LabeledExpr — Expr | Var: Expr
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oogoood
00 break ,conthue DO 0O0O0O00O0O0OO0OO0OOODOODOODOOODOOOO continuatiordd O

gooooboodaoooooooon

type K r a =
unitkK :: a ->Kr a
unitkK a =

bindK :: Kra->(a->Krb) >Krb
m ‘bindK‘ k =

abortK :: r ->Kr a
abortkK v =

Od0ddda —>r00oo“cO000b0O0ooO0’d0O00O0O0dunitk ald O
Om ‘bindK‘ k0O O O\a->kacOdOm
0000OmODOD0DOO0O0OO0O00DOO00DOO0O00O00OOODODOODOO0OO0OO0OO0DOOOOd
00000000000 0000000000000000000 Oabertk vOOOOOQOOooad
O00vOOOOODOOOOOOoOoOoOOoOooObOOoOobOoDoDO0obOO00obOOoOoobOoboooooooda
o000 utiContOOOO0OOoOO0O000O0oOOoOooooooooxRsSTOOOOODDODOO0O0 rO00O
0O0000OdsTsvOOOOOOO0D0OsO0D0O0O00ooogoog utiContdoooooDg sO
0000 oo00ooOOoDoomutisTOOOOO0O030000000000000 0

type KST s v a =

{-=(G->s > (v, 8)) ->s -> (v, s) -}

setXUD OOODODOOOOOOOOKSTOOOOOODODOOO0OO0OO000O0OO

failK :: e -> KST s e a
failK e = abortK (unitST e)

setX :: x ->KST (x, v, z) a O

setX v =
-- setY, setzO0OO0OOOO0OO

getX :: O -> KST (x, y, z) a x
getX O =

-- getY, getZOOOOOOOOO

failkOD OO O0OO0oooooooooooooboooobgbb e 0 00000000D0ODO OsetX

vOOOOO 1000 vOOOoooooouooooooooooooo
Const,Var,Let U0 OO0 0O0 comp 0 D OOO00O0O0O0D0OO0O0OOOOOODOO OGoto, Break,

Continued 00O compOO0OOO0OOOOO

comp (Goto 1) mkGoto 1

comp Break mkGoto "_break"

comp Continue TAppl (TVar "abortK")

(TAppl (TVar "_while") (TVar "_break"))

mkGoto 1 = TAppl (TVar "abortK") (TAppl (TVar 1) (Tvar "("))
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goto ,break ,continue 00000000000 DO0ODOOO0OD UtIO HaskelOOOOODOODODO
goooooo

OoOogutlo | 000000 Haskell

goto label abortK (label ()
break abortK (_break ()
continue abortK (_while _break)

goto label ,break O OOOOOOOOCOODOOOOCOOlabel, break DO OO00OOODOOO
0000000000 00oO00oD *0000”"0o000d0continue OOOOODOODOOODOD
whileJOOOOOOOOOOODODOOO breakOD0ODOOO0OOOOO

while 0 do OOOOCOCOCObreak OOOOOOCOOOOOOOOODOOODOOOOCOOOO

ooooooon
comp (While el e2) = compWhile el e2

compWhile el e2 = TLambdal "_break"
(TLet [(PVar "_while", body)]
(TAppl (TVar "_while") (TVar "_break")))
where body = comp el ‘TBindM‘ TLambdal "_b"
(TIf (TVar "_b") (comp e2 ‘TBindM‘ TLambda® (TVar "_while"))
(TUnitM (TVvar "(O'")))

Ooooo utld 000 000 Haskeld

while ¢ do t |\ _break ->
let _while = ¢’ ‘bindM‘ \ _b ->
if _b then t' ‘bindM‘ \ _ ->
_while
else O

in _while _break

OO0 0O_break O00000 0O_while _breakU ooooo
00000000000 0000D0 break ,continue OOO0OO0O0O
gO0OdQduticontO 00000 OoO0QoooOoOo coooooo:

/Iet foo = \'y ->  begin \ int foo(int y) {
setX 1; setY vy, int x=1;
while getY() > O do begin while (y>0) {
val x = getX() inval y = getyY() in
if y==10 then break if (y==10) break;
else if y==3 then begin else if (y==3) {
setY (y-1); continue y--; continue;
end else (); }
setxX (x*y); X=x*y;
setY (y-1) y--;
end; }
getX() return x;
end in }
&oo 9 J

000000000000 HaskelD OOOOOOOOOO
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foo = \y ->

setX 1 ‘bindK‘ \ _ ->
setY y ‘bindK* \ _ >
(\ _break ->
let _while
= getY O ‘bindK‘ \ y ->
if y > 0 then
getX O ‘bindK* \ x ->
getY O ‘bindK* \ y ->

(if y == 10 then abortK (_break ()) else
if y == 3 then
setY (y - 1) ‘bindK* \ _ ->
abortK (_while _break)
else unitk ()) ‘bindK‘ \ _ ->

setX (x * y) ‘bindK* \ _ ->
setY (y - 1) ‘bindK*‘ \ _ ->
_while

else unitk O
in _while _break) ‘bindK‘ \ _ ->
getX O

food OO Integer -> KST (Integer,Integer,z) a Integer0 0000 0O0OOOOOOOONO
000000000000 witSTOOOOOOO (0,0,0) 00 00000O00O00O0O0Of£st (foo 9
unitST (0,0,0)) 00000 0090 110000 (£fst (foo 11 unitST (0,0,0)))00

gd good

goto JODOOOOOCOOOOODODODOOCCOOObegin DendO0OCOOCOODOOO0OCODODO
Ubo0o0boobobDb0ODBeginOUOOD compUOO0O0OOOOODODOOOOOODODOODOOO
gboboooooboooboon

Oo0ooutio 000000 HaskellD
begin \ _end -> let
11: S1 11 =\ 0 > s 12
12: S 12 =\ 0 > s, 13
13: S3 13 =\ O -> s _end
end .
in 11 O

s, & SsO00000 goto 11,goto 12,goto 13 000 O0OOOOOO0OOOOODOOOOO
OHaskelDOOOOOOOODOO 11,12,130 0000000000000 000O0O0000O 112,12 ,13,
oooooooooon

000000 UticContD DO OD0OD0DDODOO0O0O COODOODODO:

bar =\ _ ->  Dbegin void bar(void) {

setX 1; int x = 1;

11: 11:
if getX () > 100 then goto 12 else (); if (x>100) goto 12;
setX (getX () * 2); X =X * 2;
goto 11; goto 11;

12: 12:
getX () return x;

end }

000000 HaskelD OO OOOOODOOOOOOO
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bar = \ _ —>

setX 1 ‘bindK* \ _ >
\ _end >
let labell =\ _ ->
(getX O ‘bindK* \ x ->
(if x > 100 then abortK (label2 ()
else unitk () ‘bindK* \ _ ->

getX O ‘bindK* \ x ->
setX (x * 2) ‘bindK*‘ \ _ ->

abortK (labell ())) label2
label2 =\ _ -> getX () _end
in labell O

fst (bar O unitST (0,0,0)) 0000000000 ugoon
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7.2 Schemeél O

Schemé] OLispO0 000000 OSchemél 00000000 OHaskelDOOOOOOOODODO
goodooooooodoodoooooo  ooodgdoodooooodgoodgooooon
guobogbobuooboobbobboooboooo

0000 OO0OO00 (functionapplicationo OO0 OO OOOOOd
o (U0 O, 00, ... OOppOODOO goooooon

Schemél O +0 xOOODOODODODOOOO0OO (infix notation)D O O O O
(prefixnotationd OO OO OO OOO0OO0OODOO0OO0DOOCG 12000000 0+0 000 functiond,
1020000000

ooooO0 DoOO0Oo
(define x 5)

oboooosgoooooobD*xoooobbobodboooooooobbo x0bogbooOoo 50
goooon
Schemé] OO OO0O000O0O00OO0OOCOCOOOOODOODOO

+ - . %/ <=>17?:%$%_&""
goooooooooooooboomobooooooo oo bouoboao

0 0000 Japand japanO ooooom
set!J 00000000 O0ODOO0O0O0OO0ODOOO0OODOOOOOODOO0ODO0OOmM COOnO d=0
JdooooonooOd

(set! x 4) ; OO0 xO000 4000000
; DO0000 x0O define000O0OOO0ODOOO

000 O Scheme] uggbogdgooabogdgod

ood DOOo0DDoDoOob0bOooO0o00bO0obOo0b listddogdlist0ogogoooooon
oooobgo

> (list 1997 5 6)

(1997 5 6)
> (list "kagawa" "university'")
("kagawa" "university")

00 (1997 5 6)0000000Scheméel 0000 01997000000 50 600000000
gbogoogdgboogad
OoOoO0ooOSchemg OO0 LispOOOODOOO (ODHOO 2000000000000000
gbooooon gooobooboobobooboobobobog goooooooog
goooobooobobobobobbbobdoobooooboobobobooobobbbboon
goon
O000o00ODOO0ODO0O0O0O0 LspO0000000D0OO0DOOOOO0OOOODODOOOO

goooooobb'mobobobooobobboooooboboooooboooooo
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> ’(1997 4 22)
(1997 4 22)

0’000 (quote NOUOOODMOODOO0ODOODOOOODDOOO0ODO O

> (quote (1997 5 6))
(1997 5 6)

quote O [0 oooo@a99rs5enooooooo
O0o0o00oooooo

00000000 1000000000000 000 AdistyO0oooooooo

> "0

O

> (list)

O

consl] oood, card] oobgd, cddd gobooobooooooo
gbooobooboboo0bobbobd0 consO0O0O0DOOOODODODOODOCcary cdr0 O
uooobooobuoooooobon

cons —000000O0 1000000000DODOODOOODOOD
car — 0 O0O000OOO0DOOOOO0O0

cdr —000D0000O00O0OCOOOOOODOOODOO

Ubo0b 0O0O0O0O00bOO0ODbO0O0d defined 0000
(define (OO OO, ... OO0 OO)D

Ooo0....00 0000000000000
> (define (square x) (* x x))
square

> (square 4)
16

oboob oboobooboboooooobobobob
a£f o000 041022

goon g goOoOopooOoo0omco wooooooooooooo
oOo0ooOooooOocOor?:000oooooooO

gooog

(begin O 1 O 2 ... 0O
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U.0000 00000000 yOooboooogoooooogo
CO JavaScripi0 000 {0 000000000 OCO JavaScript

O00oOoOoo*“0"000000000OooooooOoOn Oschemél beginOOOOO0OO

0o0o0odoooooooaad
(define (hen_na_square Xx)
(begin (set! x (* x x))
X))

000000000000 000000000 beginOODOOODODOO
(define (hen_na_square x)

(set! x (* x X))
X)

o0oDO0oOoooOooOo0oDOoOO0CO0OmOoDO “O007"0 beginO OO

OO0000Oletd OO0ODOOOOCO letUDOOO0OD0OOOOOODOOOODOODOO
(let (OO 1 0O 1

@O mOm
U o)

let0O0O0 00000 pyO0000O0O0O0OOO (0000 0000000000 0DOODODOO
0o04,...,00 j0000000 0000
0odooooooon

(lambda (0O 71 ... OO O0O)

oo oo,..0D0,000000000000DDODO OAambda (x) (Fx x))0 200000
U000 ((Qambda (x) (* x x)) 2)U0 400001lambda0 0 000000 ADDOODOODOOO
OO0 define0 000 O000DOOOOOOOO:

(define (sq x) (* x x))

0sq0000000000D0DO00C (define (sq x) (* x x)) 0 (define sq (lambda (x) (* x
x)))0O00o00o0o0o00on

7.3 Schemél call-with-current-continuation

Schemél O OO OOOOOOOOOOODOOOOOODOOODOOOOOO Schemel
obooobooboboobgo

(call-with-current-continuation thunk)
(call/cc thunk)

call-with-current-continuation 00 0000000000000 call/ccOOOODODOND

1Schemél 0-0 /0000000000000 00O0O0O00O0O0O0O Ocall-with-current-continuationd call/cc
0J0000000000000 Ocall/ecd Scheméd DO OO0O0O0O000D0DO0OD0O0OO0O0ODOODOOOOOOO
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thunk 0 1000000000 (call/cc thunk) O U000000thunk 00O
U00thunk D000 00D0D0D0O0O0O0D0OODOOOOOOO0O00OODODOOOD0OO=000000 00
call/ccU00ODOODOOOOO0OODODOO0OO0thunk0 00000000000 UOthunkO0ODO
0000 call/ccOOOOOOOODDOO

ogooad
(define (bar x)
(call/cc (lambda (k)
(+ 100 (Af x 0 1 k D))

UbooobbogobOear 00000000000 0O0O0O0ODOOO0OO0 Uo0o0obo0dddbar

DLOO0O0O0O0O00kO O0O0O00000100000000000000000000 0000
call/ccOO0O0OO00O0O0OO0OtryDcatchJ OO ODO0OO00OO0O0O0O0MOOOO utIoOOO

googm

(define (multlist xs)
(call/cc (lambda (k)
(define (aux xs)

(if (qull? xs) 1
(if (= 0 (car xs))
k ®

(* (car xs) (aux (cdr xs))))))

(aux xs))))

oobooobooooboDOOoobDbOo0bOooooobobo oL OO0 UOUUDLOUOODD multlistD
oooo _doodao

gobooobobboooobbobbbobbob0oddl call/ccOODDOODOOOOOOODOODO
Ubobo0dbbO0b0Ocall/ccObDO0O00OgooobooobobobbobOobboooobooobon
ooogogg

7.4 000000 coroutined

OO00O00Db0OO0O200D000D00000DO0OO0OO

000000000 0000O0subroutinel 0000 0000O0O0O0OOOO
gobooobobobboobobobboboobbbboobooobooobboboog

gggag

(define (increase n k)
(Af &Gni1e) 'O
(begin (display

i:") (display n)

(increase (+ n 1) (call/cc k)))))
(define (decrease n k)
GAf <no® ’0O
(begin (display " d:") (display n)
(decrease (- n 1) (call/cc k)))))

(define call/cc call-with-current-continuation)

gooboobooooooooooboono
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0002000000000
(increase ® (lambda (k) (decrease 10 k)))

gboooooooobo

O0000000DODO0ODDOOincreased decreaseJ 00 2000000000000D00ODO
googoon

call/ccOO0D00OO000ODOODODDOOODOOOODODDODODOODOOODODOOOD
OtyDcatcH 000000000 O0000O0OOcall/ccOOOOODOODODODODOOOOODDOODO
gooooboboooooooooooooooon

U00OU0call/ccOO0O0OODOODOO0OOO0DODDO0ODOO0O0O0ODO0O0OODOO call/eccOO
gboopooobooboboooooobobooboooooooobooboooobooooooDn
googobooboboooobogoobooboboboobooboooobbooboooooboon
g gogooo
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75 call/ccO OO

goODbgd utlContd call/ccO0D00OO00ODO0ODOO0ODODODODOOODOOODOODOODOO
U000call/ccO0D00O0DO0O0OOOO00OO0OO00OO0

callccK :: (@ ->Krb) >Kra) >Kra

callccK h =

callecKOOOOODODOUOOODO kOODOOOODdOODDDODOOOOOOLOOODODOD cODOO
gbooooooooboon

00000000 calleecKk OOOOOO UtilContd O OO Haskelld callecKO OO O OOOO
goog

O0Ogoutlo
callccK m

000 000 Haskeld

m’ ‘bindK‘ \ _x ->
callccK _x

U0 Ohead, tail,null, not,show 00 0O 100000000000 O0OOO0O0O0O0ODODOOOOO
opoooo

oooo utld

000000 HaskelD
funWithOneArg m

m’ ‘bindK‘ \ _x ->
unitK (funWWithOneArg _x)

ooD0O0og0g utiContd donoO:

multlist = \ xs ->
let aux =\ xs >\ k -> begin \
setX 1; setY xs; setZ "
while  not (null (getY())) do begin
val y =getY() inval n = head y in
if n ==0 then k 0 else
begin setX (getX()*n); setY (tail y);
setZ (getZ() ++ " " ++ show n)
end
end;
getxX ()
end in
val result = callccK (\ k -> aux xs k) ~in
"result = " ++ show result ++ "; z = " ++ getz () ++ " V" J
000000000000 HaskelD OOOOOOOOOO
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multlist = \ xs ->
let aux = \ xs ->
unitk (\ k >

setX 1 ‘bindK‘ \ _ ->
setY xs ‘bindK‘ \ _ ->
setz "" ‘bindK‘ \ _ ->
(\ _break ->
let _while
= getY O ‘bindK‘ \ y ->
if not (null y) then
getY O ‘bindK‘ \ y ->
(if head y == 0 then k 0 else
getX O ‘bindK* \ x ->
setX (x * head y) ‘bindK* \ _ ->
setY (tail y) ‘bindK* \ _ ->
getz O ‘bindK* \ z ->
setZ (z ++ " " ++ show (head y)))
‘bindK‘ \ _ ->
_while

else unitk (O
in _while _break) ‘bindK‘ \ _ ->
getX ()
in callccK (\ k -> aux xs ‘bindK‘ \ _f ->
_fk ‘bindK* \ result ->
getZ O ‘bindK‘ \ z ->

unitK ("result = ++ show result ++ "; z = ++ z ++"E¥")

fst (multlist [1,2,3,4,5] unitST (0, [], "HO0000O “result = 120; z =" 12 3 4 5";"0
fst (multlist [1,2,3,0,4,5] unitST (0, [], ") ODO0OO “result = §; z = " 12 3";"
ogooad

guooogoad
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